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be received by the Central Government.

Supply of Foodgralns Under ITDP

*850. SHRi NARSINGRAO SURYA- 

WANSHI: Will the Minister of FOOD AND 
CIVIL SUPPLIES be pleased to state:

(a) whetherthe State Governments are 

following the Central direction to ensure the 

earmarked quantity of foodgrains for the 
Integrated Tribal Development Projects;

(b) if not, which are the erring States 

and the reasons given by them; and

(c) whether any evaluation of follow up 
actbns by the States have t>en carried out by 

Union Government in this direction so far?

THE MINISTER OF TEXTILES AND 

MINISTER OF FOOD PROCESSING IN­
DUSTRIES (SHRI SHARAD YADAV): (a) In 

terms of the instructions issued by the Gov­
ernment of India in January 1990. all the 
State Governments/Union Territories con­
cerned (expect those of the tribal majority 

State) are required to earmarks specify 
quantities for distributbn under the scheme 

for supply of wheat and rice at specially 
subsidised prk̂es in the Integrated Tribal 

Development Project (ITDP) areas, on the 
basis of the averages of the quantities is­
sued for distributk>n during the three months 

period October-December 1989. The State 

Government/Union Territories are. however, 
free to earmark quantities to larger than the 

average in the ITDP areas within the total 

monthly PDS allocation. Most of the State 
Governments have since reported that spe­

cific quantities have been eamiarked for 
distributions under the scheme.

(b)  No specifk; instance of lapses on the 
part of any State Government in this regard 
has so far come to notce, although intima­

tion of the actk>n taken by the Govemments 
of Assam, Tripura and West Bengal is yet to

(c)  The responsibility < r ensuring that 

the earmarked quantities do %;hthebene- 
fteiaries lies withe State Gov Timents/Un- 

k)n Territories concerned.

Indian Labour Conferance

*851.  SHRIMATI BASAVA RA- 

JESHWARI;
SHRI KUSUMA KRISHNA 

MURTHY:

Will the Minister of LABOUR be pleased 
to state:

(a) whether the Indian Labour Confer­

ence was held recently in New Delhi;

(b) if so. the main points discussed at 

the Conference;

(c) the representatk>n of the State and 
other interests attending the Conference;

(d) to recommendatbns made by the 

Conference;

(e) to what extent the recommenda­
tions made in the Conference have been 

implemented; and

(f) when the last Indian Labour Confer­

ence was heki and the reasons for the gap if 

it was unusual?

THE MINISTER OF LABOUR AND 

WELFARE (SHRI RAM VILAS PASWAN):
(a) to (f). A statement is given bek>w.

STATEMENT

29th Session of the Indian Labour Confer­

ence was Held on April 2U22, 1990 At 
New Delhi.

The agenda items for the



Conference was as folbws:

1.  Action taken on the oonsen> 

sus of the 28th Session of the 
Indian Labour Conference.

2.  Labour Participation in Man­

agement.

3.  Review of Industrial Relations  4

Legislation (covering proposed 

amendments to I.D Act and

T.U. Act)

4.  General Verification procedure 
and classification of industries 

for the purpose to verification.

5.  Review of development relat­

ing to unorganised labour.

6.  Review of implementation of 
Labour taws.

7.  Laws and Policies relating to 

Child Labour, Woman Labour 
and Emigrant Labour.

5
2. The list of participants in the 

Conference is given in the 

Annexure.

3. The conference made the fol- 
bwing recommendations:—

1.  Thelndian-LabourConference 

should be held regularly every 

year.

2.  The Meeting of the Standing

Labour Committee should be  6
convened every six months.

3.  The need for a statutory frame 
work for providing worker’s 
participatk>n in management

was recoganised. The repre-  7
sentatk>n of workers on the
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partbipatory for a shoukJ be 

on the basis of secret ballot, 
and the participatk>n shouki 

be at all levels. The questbn 

relating to participation in 

equity shouki be kept sepa* 

rate from the proposed statu­
tory scheme.

The Conference came to a 

unanimous view that the trade 
Unk>n and the Industrial Dis­

putes (Amendment) Bill intro­
duced in the Rajya Sabha in 

1988 shouki be withdrawn. At 

the same time, it was felt that 

there were several pressing 
aspects including the defini­

tion of industry which would 

necessitate the introduction of 
a new Bill. To formulate spe­
cific proposals, it was recom­
mended that a bipartite Com­

mittee under the Chairman­
ship of Mr. G. Ramanujam will 

be constituted.

The Conference endorsed the 

verification procedure as 

agreed to by the Central Trade 

Union Organisations in a 

meeting on 29.12.1986. Re­

garding the procedure for veri- 
ficatbn of membership in ru­

ral/agricultural sector the mat­
ter will be further consbered 

In meeting of representative of 
Central Trade Unbn Organi- 

satbns.

There was a general consen­
sus on bringing a Central leg- 

islatbn in respect of oonstruc- 
tbn labour and agrbultural 

labour.

Regarding review of imple- 

mentatbn of Labour laws and
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Law and Poiicios relating to 

Child Labour. Woman Labour 
and Emigrant Labour, it was 

agreed that these matter would 
be discussed in the Standing 

Labour Committee.

cultural labour and oonstruc- 

tion labour are also under 
consideratbn. The bipartite 

committee for examining the 

various aspect of the I.R. Bill 
has been set up.

4. A suitable legislation on Work- 

er’sPartidpation in Manage­
ment is already under consid­

eration. Proposal for legisla­
tion relating ;o landless agri-

5. The last Indian Labour Con­

ference was held on 25-26 
Nov. 1985. It was unfortunate 

that the Conference was not 
held in the intervening years.
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